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1. Simplify the following expressions with valid variable values.

a) b*°: (—b)% r) am - a® . 68xty*z® 28pq® — 32p°¢>.

a-am"'-a* i) 17x%y32"’ K) 12p3q ?

N X0 - x3 . x2 15a32p15¢56 35x2° + 55x2y°

6) e "% N V0anes N qEge
RS w1 s oty ye, 80m**n**k> 16ab* + 26ab’

B) (—x)*": x X3 e) vy g u) 16k®m 20 M) 32a% — 15a%b°

1

L8 —8x2 - (—xy)® - x° - y°. (4bc?) - (—ac?)? - (2a%b’c)? ;
a3 )

(x*)*+ (=3y)* ’ (=26°*)° - ((—a)*)?)*

F) (mzn)J . (mni) o (_25"1)2. ) (x2U2)4 . (7y2)3 . (2x22)2
(=5m® n?) - (mn)° > €

(L) (-8aa  w)

6) (-20%) - (~55)

(—((—x)??)? - (14y°2%)* *

2. Compute:
102 + 112 + 122 + 13% + 142
365 N
5v — 15 @ — 5a+ 6
9 Y
3x% 4 l4x — 5 5p — 15

(@ p2 — 4




